

Maisonette in Santa Venera



Santa Venera, Central



€468,000

Reference No: 240151140-158

 Total Rooms: **7**

 Floor Area (m²) : **210**

 Bathrooms: **2**

 Bedrooms: **3**

Maisonette - For Sale - Santa Venera

Santa Venera - Located in a central yet quiet area of Santa Venera, this finished 3-bedroom maisonette offers a comfortable and modern layout ideal for families or investors. The property features a spacious open-plan kitchen, living, and dining area, three double bedrooms (main with en-suite), a main bathroom, and a utility/storage room. It is being sold fully finished, including bathrooms and internal doors, making it ready to move into. Natural light floods the interior, creating a bright and welcoming atmosphere. An optional interconnected parking space is also available for added convenience. With all amenities within easy reach, this home is an excellent opportunity not to be missed.

Features

- ✓ Ceramic Floor
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Skirting
- ✓ Yard
- ✓ Video Hall Porter
- ✓ Entrance Hall
- ✓ PVC Piping
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Dining : 9.35 x 8.7 m (81.34 m²)
- ✓ Double Bedroom : 5.1 x 3.4 m (17.34 m²)
- ✓ Double Bedroom : 5 x 3.4 m (17 m²)
- ✓ Double Bedroom : 5 x 4.15 m (20.75 m²)
- ✓ Bathroom Ensuite : 2.3 x 3.19 m (7.34 m²)
- ✓ Laundry : 1.2 x 1.4 m (1.68 m²)
- ✓ Bathroom : 3.2 x 1.6 m (5.12 m²)
- ✓ Open Space : 3.9 x 6 m (23.4 m²)

Gallery





Keith Ciantar

RE/MAX Edge - Attard

M: 99233127

E: keith@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta